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PART -1: GENERAL ENGLISH

Read the following sentences and answer the questions that follow. Choose the right answer and

mark it.
1. Itold you times not to come late.
(1) anthousand (2) athousand
(3) thethousand (4) thousand
2. She has been absent three days.
(1) for (2) since
(3) from 4 to
3. Sit quietly,
(1) Canyou? (2) Can’tyou?
(3) Willyou? (4) Won’tyou?
4. Raviruns fast.
(1) Noun (2) Pronoun
(3) Verb (4) Adverb
5. Let the wall be
(1) build (2) built
(3) builded (4) building
6. Identify the number of syllables in the word ‘right’.
(1) mono (2) di
(3) tri (4) poly
7.  It’s important to on time.
(1) Show off (2) Showup
(3) Show of (4) Show
8.  Find the odd one out.
(1) mood (2) book
(3) look (4) took
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9.  Find the silent letter in the word ‘muscle’.

(1) s (2) e

(3) c (4) u
10. Which letter is stressed in the word ‘ability’.

(1) a (2) t

(3) 1 4) b

For [Q.No. 11 to 20]: Read the following passage carefully and choose the correct answer to the
questions given after.

Light enters the eye by refracting or bending, as it passes through the cornea. Light rays
then pass through the opening into the eye known as the pupil. The pupil size is cont.rolled by a
muscle known as the iris. The pupil becomes smaller when in bright area and larger in the dark
area. After leaving the pupil, light rays are refracted once again as they pass through the convex
lens of eye. Light rays continue travelling through a jelly like material called vitreous humor. An
upside down image is formed on the back of the eye known as the retina. Cone cells on the retina
interpret the colour of the image and rod cells interpret the black and white colours. Lastly the
image is taken to the brain for the image to be seen correctly.

11.  Light enters the eye through the
(1) pupil (2) comnea
(3) muscle (4) iris

12. Which controls the size of the pupil?
(1) iris (2) cornea
(3) eye (4) light

13.  When does the pupil become smaller?
(1) largearea (2) small area
(3) darkarea (4) brightarea

14. Name the organ that light passes through from cornea.
(1) cone (2) iris
(3) pupil (4) convex lens

15. Anupside down image form on

(1) convexlens (2) cone cells
(3) rod cells (4) retina
V-General English 4
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16. Jelly-like material in eye called the
(1) Vitreous humor (2) Cone cells
(3) Retina (4) Ins

17. Antonym of ‘Concave’

(1) comea (2) convex
(3) cone (4) lens
18. interpret the black and white colours.
(1) Rod cells (2) Cone cells
(3) Pupil (4) Retina

19.  What is the noun form of ‘refracting’.

(1) Refracted (2) Refraction
(3) Refract (4) Refractory

20. Supply the missing letter to the word ‘Vitre _s’.
(1) au (2) eu
(3) ou 4 1w

21. Choose the wrongly spelt word.
(1) elaborate (2) elocution
(3) Aloquent (4) eternal

22. Choose the parts of speech of the word ‘Pageant’.
(1) noun (2) adjective
(3) adverb (4) verb

23. Cartography means writing of
(1) poems (2) cartoons
(3) maps (4) novels

24. Choose the right meaningful word of the phrase ‘of a good sound”’.

(1) symphony (2) euphonious
(3) magnanimous (4) loquacious
V-General English 5
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25.

‘Mark Twain’ is the pen name of

(1) Samuel Langhorne Clemens (2) Samuel Taylor
(3) Keats (4) O.Henry
26. Who is the author of the novel ‘The Adventures of Tom Sawyer’?
(1) William Wordsworth (2) Henry
(3) Mark Twain (4) Sarojini Naidu
27. Choose the tense of the following sentence.
‘He’ll give you money when you come next Saturday.
(1) Simple present (2) Simple past
(3) Simple future (4) Present perfect
28. Identify the correct interrogative sentence.
(1) HasIpassed the test? (2) Havel passed the test?
(3) ThetesthasIpassed? (4) Thetesthave I passed?
29. Choose the correct sentence.
(1) Iambelieving you (2) Iwasbelieving you
(3) Ibelieve you (4) TIbelieveinyou
30. Romantic movement in English literature is started by
(1) William Wordsworth (2) Henry Wordsworth
(3) Aldous Huxley (4) N.R.Narayana Murthy
V-General English 6
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PART -11: ECONOMICS

31. Thelaw of Equi-Marginal Utility is based on
(1) Ordinal Utility (2) Form Utility
(3) Service Utility (4) Cardinal Utility
¥3rFod drodo 30D BFTEHASH?
(1) 835 Pwarado (2) G PRrEI80
(3) P PBoredSn (4) 5985 DRradsn0
32. The functional relationship between the changes in income and the quantity demanded is
known as
(1) Income Demand (2) Price Demand
(3) Cross Demand (4) Elastic Demand
IAIBrET e SFSrofH T FHoffey B S8, A8 D@y HI) Jo057R)
80708
(1) ozcd &ddrobk (2) &8 ddrok
(3) =orgods &drob (4) g8 aSrok
33. The law of variable proportions operates in
(1) Short period (2) Longperiod
(3) Very long period (4) Specified period
Jiy 5798 GEBH00 IV I Wod?
(1) dgoy sP00& (2) 5?» aloTeloN
(3) Q—Dé’éég sTo0e* (4) ©8g8 srwos®
34. Who introduced the concept of Quasi-Rent?
(1) J.S.Mill (2) Alfred Marshall
(3) Adam Smith (4) DavidRicardo
51850 el droerd) BIF DI 6
(1) JS.206 (2) ©SRE SrdS
(3) wdD S (4) d2& o5°G
35. Under perfect competition the position of MR curve to the axis is
(1) Vertical (2) Parallel
(3) Movingupward (4) Horizontal
Bodrg FSS" MR SEo & (obd ddor Yoo,
(1) QeoHm (2) JSrodEdom
(3) wéFSdo (4) eogom
V-Economics 7}
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36. The law which states that the response of output if all inputs are increased in a fixed
proportion is known as

(1) Law of supply (2) Law ofdemand

(3) Law of variable proportions (4) Law of returns to scale

J dr@o ©Bsdo G818 576578 a8 woFS0S' DoNSIYE, ST w88
Bo8gHN) Doworr) BeoHHod?

(1) dox Bo@o 2) Bsrob SrEo
() Jgoy 5 w88 Hosw (4) 8655 0Hd00D HEITO HFESN

37. The economies which are open to a single firm are known as

(1) Internal Economies (2) External Economies
(3) Technical Economies (4) Managerial Economies
28 D0Q 85 &&)B J0Sred) ;‘boaééjda QBYBS wmo dH0trd?
(1) ©odds wmren (2) 2o¢s woren

(3) osas woren (4) Q8giren emren

38. The supply function is presented in which of the following form?
QDPon ey &% §od Do BODIW),

(1) Q=f(Py,Py,ET,E) (2) =f(PyPy,ET,G)
(3) Q=f(PyPy,F,0,G) (4) Qx=f(Pyx,Py,S,T,G)
39.  Who wrote the famous book “The General Theory of Employment, Interest and Money”?
(1) J.M.Keynes (2) Alfred Marshall
(3) Robbins (4) Paul A. Samuelson
“aigher, 5§ Hodcsn Ghgo @), o DToES0" QIER) ENoDS $5587
(1) IMSS (2) oSEE Sr8S
(3) oA (4) S AXS0nSHS

40. Monopolist charging different prices for different units of same product is known as

(1) Technical Discrimination (2) Personal Discrimination
(3) Use Discrimination (4) Price Discrimination
D8 F5BgoS” BBEOTEHE, VG IARBrLTHeR G G0k VINTR) D00 E?
(1) csas 258 | (2) Sg858 dI§
(3) 2&Bri DI (4) &8 88
V-Economics 8
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The change in quantity demanded of one good in response to the change in the price of the

. related good is known as
(1) Crossdemand (2) Incomedemand
(3) Price demand (4) Demand function
& Bob TBS' DB HEgSToH, YO8 SHe ES* ST Sréne Sy S Edrokd
58y Srdyd 8OaHEN08?
(1) @rergods &Srob (2) wocdH &dSro&
(3) &6 &Srod (4) &3ro& e
42. Transformation of inputs into outputs is known as
(1) Distribution (2) Exchange
(3) Consumption (4) Production
HTYVETOR GHAT S50) DEHD 2Bo0trdd?
(1) H0%ed (2) SrEES0
(3) AX&@>io (4) &&8
43. Dividing a given activity among the workers is known as
(1) Specialisation (2) Capital formation
(3) Social capital (4) Division of labour
2.8 HS* 8o DEESHTE Q) QB3087&?
(1) B8gé88e0 (2) Sorols dA¥B00
(3) oo Soreddo (4) F Jefed
44. The income which is left with the individual after repayment of all the direct taxes is

known as

(1) Per capita income

(2) Personal income

(3) Gross income

(4) Disposable income

Hdnen Do Bosorr 358 SHE NOBNY) BTasr) Q200erE?
(1) Sobd sraHin

(2) $g8H8 erroidB

(3) dgo (TImpert Y

(4) D36 DABFHOBBY wuroso
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45.  Who said, “Economics is the study of mankind in the ordinary business of life”?
(1) Adam Smith (2) Alfred Marshall
(3) J.S.Mill (4) David Ricardo
38083 SIS’ SrdS BILS H00D wrrgairso Do Tabdd efTEsn” el
IS\
(1) @68 S (2) sSRE 78S
(3) JS. 28 (4) QA& 65°G
46. Who wrote the book “An Essay on the Nature and Significance of Economic Science.
(1) A.C.Pigou (2) EdwinCannon
(3) Lionel Robbins (4) Jacob Viner
“@ga“@ Rearddn (@FSnEgdD gy’ HuHsodS $g8
(1) A.C.2Ra5» (2) 8IS EHS
(3) ORrIS oay) (4) =85 386
47. Want satisfying power of a commodity is known as
(1) Satisfaction (2) Utility
(3) Consumption (4) Money
389 VI o §0en Syn Boka)
(1) &y (2) PBr=5350
(3) AIR>Ko (4) 8550
48. Law of diminishing marginal utility is known as
(1) H.H. Gossen's first law (2) Marshall's first law
(3) J.R. Hick's first law (4) KE. Boniding's first law
§5° 08 HRras RITOEIE HoBRNE 2
(1) HH.m28 @6k Somg@hon (2) 3785 B KSR
(3) JR. &§) @&8 drgsw (4) KE. &°080f 3043 NV
49. Indifference curves are always to the origin.
(1) Convex (2) Concave
(3) Tangent (4) Positive
SIS SE Dped Jodydd
(1) Sozrs*dorr (2) HersSom
(3) JSrod8sdn (4) da‘ég}éo
V-Economics 10
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50. In case of relatively clastic demand the numeric value of clasticity of demand is
ahgom A 85008 DAcKoS” Airob 0, ROFHES ANE), dogrg dend

(1) =1 (2) =1
(3) >1 4) <l
51. In case of necessaries the clasticity of demand will be
(1) Unitary Elastic (2) Elastic
(3) Inclastic (4) Perfectly Elastic
odgSd8 SNHo Jhohos* ASrobs FgEildo e Yotnoh?
(1) eSS argSessdo (2) ag8usdn
(3) oarg§udw (4) Doy IgEEsw
52.  When was the planning commission replaced into NITI Ayog?
(1) IstJanuary 2013 (2) 1st January 2012
(3) IstJanuary 2015 (4) 1st January 2014
D BoSHEIN PeTE [JoPoSW, A8 VAFAMT Sr&d)y BodIL?
(1) =358 11,2013 (2) =558 1,2012
(3) =338 1, 2015 (4) =558 1, 2014
53. What is the example of an Agro Based Industry?
(1) Sugar Industry (2) Ironand Steel Industry
(3) Mineral based Industry (4) Coal Industry
& Bob T8S* S50 Bd HBFH GITSe.
(1) BoSmd HBF% (2) 2d0d0 $08c%H &8y, HBEFS
(3) 28 DHBEFS (4) &Ky J/EFd
54. Mahatma Gandhi National Rural Employment Guarantee Scheme was launched from
(1) 20d Qctober 2008 (2) 2nd October 2001
(3) 2nd Qctober 2005 (4) 2nd Qctober 2009
Soirdyrol FEH [T Grd S0 DEE0 DY (FEoDowTEd?
(1) oE=6 2,2008 (2) o6 2, 2001
(3) =6 2, 2005 (4) o6 2,2009
55.  'Which country was the first to introduce the concept of Micro Finance?
(1) Bangladesh (2) India
(3) Japan (4) Srilanka
BE DS ©IFDES 3068 BHo
(1) worrds (2) =@obasr
(3) 23 (4) Beos
V-Economics 11
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56.

National Income is estimated by

(1) RBI (2) CSO o
(3) NITIAyog (4) Finance Commission
=80 BT oHINDH woST JonT 8
(1) e68.0 (2) D.000.8
(3) 58 s&@rh (4) ©88 doo
57. One of the characteristics of a developing country is
(1) Better quality of life
(2) Low level ofunemployment
(3) Abundance of capital and technology
(4) Predominance of agriculture
VHIJY Vo) Bfo B0E) ¥ oo
(1) Segd 253 PSoreao
(2) odgoy dE gRSw
(3) J8YBRS SareoSo, FosBE Hoxdo
(4) SgdFrad @Wrerdghn
58. Sarva Shiksha Abhiyan was introduced in the year
D8 3T VAT @ D0IHBS® HIFLLE? -
(1) 2001-02 (2) 2002-03 ¢
(3) 2003-04 (4) 2004-05
59. The second five year plan gave importance to
(1) Industrial Sector (2) Service Sector
(3) Agriculture Sector (4) Private Sector
BokS HoBSYE P78 D SorrdB (FETIgE RanK? N
(1) SH/EFSoe (2) DS Borrs 6!
(3) SgdycSosorrE (4) @3S Sorrs
60. Inwhich year was the Government Nationalized 14 Commercial Banks?
D Dod)BEnsS* Pehdso 14 Tdag wrgorod doho BHos?
(1) 1948 (2) 1969
(3) 1984 (4) 2014 .
V-Economics 12 \&
e
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61. Calculate the Range of the following data:
20, 25, 29, 30, 35, 39, 41, 48, 51, 60 and 70.
& 808 daro¥oss® gl HedoSod
20, 25, 29, 30, 35, 39, 41, 48, 51, 60 So803» 70.
(1) 50 : 2) 70
(3) 20 4) 90
62. The contribution of Andhra Pradesh to the country's marine export is nearly
37 D50E ABS0BE WoBPBT dT5E0 T
(1) 40% (2) 50%
(3) 30% (4) 60%
63. Which district has the highest irrigated land to the tune of 4.38 lakh hectors
(1) West Godavari (2) EastGodavari
(3) Guntur (4) Kadapa
& 808 T8S* D 2> 0SH¥ 3K Kr o) 4.38 vfe JEToen EOA Hod?
(1) 23S ForSd (2) &r&y Horsd
(3) #Hodardd (4) &%
64. 'A flow of consumption without reducing the capital' is called
(1) Ecological Balance (2) Eco-System
(3) Conservation (4) Sustainability
‘Boaredo) SiSsom IADBrE PTTR) FIrAoBTR) DS300ETE?
(1) Horgdden dDSoBrogHn (2) 3603553
(3) Hd8Eowtko (4) 8gd0
65. The process of integrating the domestic economy with the world economy is called

(1) Liberalization (2) Privatization
(3) Globalization (4) Integration
3¢ esgs 5552, Do els $5558" ©XDoETIIN T DB A%00erdd?
(1) H6¥88e0 (2) [:.33&35693
(4) D8E8e0

(3) BHohEs

V-Economics
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66.

In which year the industrial estates were established?
FOFDE Thod I JoSEEsNS* Do BHTE?

(1) 1948 (2) 1951
(3) 1961 (4) 1955
67. Inwhich year the Rythu Bazars were introduced?
OH axrbod 37 1S doSd)Esw.
(1) 1999 (2) 2005
(3) 1991 (4) 2014
68. Who is the father of Green Revolution?
(1) Dr.M.S.Swamynathan (2) Prof. Norman Borlog
(3) B.F.John (4) Dr.Kurien
TBE DS Derdoduds
(1) Dr. MS. #2065 (2) @T60S TG
(3) BFzS (4) &.580%S
69.

What is the variety and variability among living organism called?

(1) Eco-system
(3) Biodiversity

(2) Ecology
(4) Biological system

oSt IDEgo, esa’bdeaa’:g;’)‘{gé‘ QDY) HETOH WYL 0D JS00rE?

(1) es58e S5
(3) 23328550

(2) JEers
(4) 23585 dprdsmn

70.  The natural resources which can be used permanently without depletion are called

(1) Conventional Resources

(3) Non-Renewable Resources

(2) Renewable Resources
(4) Environmental Resources

D08 IIDrAoDS Jurod E&Kde BT Jens Hod SStete VSootrds?
(1) FoporodH S8en

(3) JSoHHBo 57 S3%en

(2) i.’p)éc‘égééoo':'bg SS5Sen
(4) JogS8e $58en

V-Economics
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PART - III : MATHEMATICS

71. Iff: N —>Risdefined by f(1)=~1 and f(n+ 1) =3 f(n) + 2 for n > 1, then fis

(1) one-one function (2) onto function
(3) constant function 4) f(m)>0forn>1
f:N—> R @dcdn f(1)=-150c50 f(n+1)=3f(n)+2, n>1% VoIS AIREN A
wond f
(1) o3 DdoaHsdn (2) JoR PHDoc%Sw
(3) ¢ 300580 4 fM>0,n>1%
1 2 x
72. If{4 -1 7 |isasingular matrix, then x =
2 4 -6
1 2 x
4 -1 7 | o8 ogde @8, wond x =
2 4 -6
(1) 0 (2)
(3) -3 (4) 3

b>—ab b—c bc—ac
73. lab—a* a-b b*—ab|=

2
bc—ac c¢c—a ab—a

(1) abc (2) a+b+c
(3) 0 (4) ab+ bc+ca

74. The Cartesian equation of the plane passing through the point (3,2, —1) and parallel to the
vectors b =7 —2j +4k and € =37 +2j 5k is

(3, =2, —1) Do&oHoa FSrb =1 —2j +4k 08050 ¢ =30 +2] -5k J0F0%H
S3rod8om ol dwo BNE), DOTINIES0 S50

(1) 2x-17y—-8z+63=0 (2) 3x+17y+82-36=0
(3) 2x+17y+8z+36=0 4) 3x—-16y+82-63=0
V-Maths 15
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— : - o F.b+b-c+c-a=
If @b 7 are unit vectors such that g+b+c=0thena b

poy
et
N’
o | w

3
2) =3

76.

If tan 40° = A, then —on 140°—tan130

1+ tan140°-tan130°

tan 40° = A ®ond

tan140°—tan130° _

1+ tan140°-tan130°

1-2° 1+ A2
1 2
0 — 2 —
1+ 42 - A2
3 4
(3) o @ —
7. tanzsr—+2tan2—7r+4cotiyz=
(1) cot—g[— (2) cotz—”—
3
(3) COT.—S—' (4) cot._ﬂ:
78. Ifcos h2x=199,thentan hx =
cos h 2x =199, o8 tan h x =
1 Wi 5y 6V
5 @ T
3) Wi @ 31
7 10
V-Maths
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In AABC,a=3, b=4and sinAzi,then B=

AABC &* a=3,b=4 aﬁaacﬁnsinA=% ©ond |B=

(1) 60° (2) 90°
(3)° 45° (4) 30°
80 i+—+ e : =
L % r32
) a® +b* +c? X a? +b*+c*
) @ —
A? ' A
3 5y —
(3) a* +b* +c? “) a®+b% +c?
81. The locus of the point P which is equidistant from 3x+4y+5=0and 9x+ 12y + 7=0 s
(1) ahyperbola (2) anellipse
(3) aparabola (4) astraight line
3x+4y +5=0308050 9x + 12y + 7= 0 0% 35r58r80s® $908 Docodh P Gy,
Do HEH?
(1) 083ccI00sdn (2) &g);’)ggéoo
(3) HorSecHdn (4) J8¥0p
82. The value of £, if the angle between the lines 4x —y+7=0and kx — 5y — 9 =0 is 45°
4x —y+7=0 58050 kx -5y -9 =0 Bpe HFgEain 45° wond k Jend
25 k)
) = (2) =
(1) 3 .
(3) 3 4) 5
V-Maths 17
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: ' resented by
83. The point of intersection of the pair of straight lines rep

X2+ 4xy+3y2 —4x— 10y +3=01s J s
X2+ dxy + 32 — dx — 10y + 3 =0 53 D6 srD0d D6¢ PO PO 3
M G, @ (.2

® & @) @2

. . ively.
84. A plane meets the co-ordinate axes 1n P,Q,R respectively.

If the centroid of APQR i

1.1 .
(1’5’5] , then the equation of the plane 1s

o€ oo Vordsgod, P, Q, R o 5§ efosi)s. APQR G3208) So@arsdu

11
(1 = —jeaoooé 8 $oo R0, HHE8eS0

3253
(1) 2x+4y+3z=5 (2) x+2y+3z=3
(3) x+4y+6z=5 (4) 2x—2y+6z=3

85. Thed.c.'s of a line that makes equal angles with the axes

AErIFTFos H37S Searen T Tp OF) pdoe

(+1+1+1J 2(+1+1+1)
(D —\/—2-,—\/5,—\/5 2) \/.3_, \/5 \/E
1 1 1 1 1 1
+ ,i ,’i + ,i ,i
“”(ﬁﬁﬁ] “”(ﬁﬁﬁj
86. Ifthe extremitiesiof a diagonal of a square are (1, 2, 3;and (2, -3, 5), then its side is of
length
2.8 FEER EGSN R, DI HodYeo (1,2, 3) Sodasw (2, -3, 5) wond o Hzs
RBE), FAEY)
() Je (2) 15 3) 15 @ 3
1 1
8 —(1—x)8
87 Lt (1+x)s —(1-x) _
x—0 X
_— I
3 @ 3
(3) 0 @y 1
V-Maths 18
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88. Ifx=ar? and y =2at, then %=

e
x = ar® 50050 y = 2at, ®ond Z)x_z

1 1 t(e’—sint)
(1) 7 (2) ¢ B) =2 4) —

t 1+1cost

89. If ‘0’ is the angle between the curves y=x? and x=)? at (1, 1:), then tanf =
(1, 1) Dot 38, y =x2 8050 x =)* Sg"e o6y Sedn ‘0’ wond tand =

(1 3 (2) %
3 5
G) 3 @ 1

90. In the interval (-3, 3), the function f(x)= % +—3—,x #0 is
x

(1) increasing

(2) decreasing

(3) neither increasing nor decreasing

(4) partially increasing and partially decreasing

(-3, 3) wogsS0eS* f(x)=—J3£+—3-,x¢0 O3 PR
x

(1) e86&5eadn
(2) ©3685dn
(3) w8'Iredn 57 Hodcn WS TRdN 57
(4) Fod s8I i B Fod WS Tt

91. The locus of the point representing the complex number z for which |z + 3 — |z — 3=151is

(1) acircle (2) aparabola
(3) astraight line (4) anellipse
z &d %088 Jopgs |2+ 3 —|z- 3 =15 wond & H088 Song Hrdod HokHEzn
(1) Syg3» (2) SordeoHdn
(3) S6&dyp (4) BEIHSS5»
~Maths 19
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92. Ifx=a+b,y=aw+bw2,z=awz+bw,thenx)’z'—'

x=a+b,y=aw+bw2,z=mv2+bw, wond XYz =

(1) a+p 2) a-b
3) a+b 4) a-b
T
93. Ifa, b, c are distinct and the roots of (b — 2+ (c—ax+ (a — b) = 0 are equal, the,
a, b, c are in
(1) AP (2) GP.
(3) HP (4) None of these

a, b, c e Fbgso 805 (b—c?+(c—ax+(@-b)=0 Boog), Sorered SSrSond
a, b, c oo 80 B&S* &odron.

(1) wof@a (2) Hoe@Eéd

(3) oS EEs (4) b6 5o

94. If the roots of x3 — kx? + 14x — 8 =0 are in GP.,, then k=
X —lo? + 14x — 8 = 0 Rg), Soreren HFES’ GoB k=

(1) -3 ' 2 7

(3) 4 4) 0
95. “Py=A+8.""P,=>A=

(1 P @ “p,

3) "P, 4) '°p

9

E
9%. If ———=—+—+—+—+ ,thenB+D+E =
x4(x+2) x  x? x? xt x+2 1 D+E

x+1 A B+C+D+ E 3B
=—+t—Ztgt—o+—, 0 —
M (x+2) x x2 X X x4 008 B+D+E
(1) A+C (2) A_C
(3)c 2A+C 4) 2A+2C

97. Find the variance of the data 6, 7, 10, 12,13,4,8. 12

6,7, 10,12, 13,4, 8, 12 Sgrodsnisss dgya.
(1) 8.5

(2) 11
‘ 2
i (3) 123 (4) 9.5
V-Maths 20
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98. Two dice are rolled. The probability of the sum of the digits on their faces to be greater
than or equal to 10 is
Bods FDEew oI . T°& gmam:ba & e 3go10 BT ©wodEo8 8D o©dbg

Hogrdgd
1 1
M 3 @ 7
1 o L
® 3 Ol

99. Find the probability of drawing an ace or a spade from a well shuffled pack of 52 playing
cards.
TEDDS 52 0E S e H0d AV S0 G, a'?ogéwm&) &g HoerSgd

1 hd ) L
1) 13 @ 33

4 13
) 5 @ 5

100. If the mean and variance of a binomial distribution are 4 and 2 respectively, then the
probability of 2 successes of that binomial variate X is

2.8 876 DeT2350 WoERE§H0, IS Idm 4 58050 2 wond BN BT X Boddd
& dHeo @o’i)g Dol Dogrdge

y - ) —
» 3 @
) 256 @) 256

101. The equation of the circle passing through (1, 2) and the points of intersection of the
circles x2+ )y —8x—6y+21=0and x> +y? - 2x - 15=01s
(1,2) Dot orgoe Pér 50050 x2+y?— 8x—6y+21 =0, x*+)* - 2x~ 15 =0 Syzro
podd DodrHe Tgoe A :ﬁbétﬁboédeaaﬁao

(1) x2+y*+6x-2y+9=0 (2) 24y —6x-2p+9=0
(3) x*+y*—6x—dy (4) x*+y’—6x+4y+9=0
V-Maths ' 21
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102, If x2+ )2 + 2gx + 2y —12=0 represents a circle with centre (2, 3), then its radius g

4 S
237+ 2gx + 2 — 12 = 0 & BhEowo, (2, 3) Segerm fo HEY W0} © 54

TGS

(1) 5 2) 4

(3) 3 4) 2

: - 2 - + -

103. Find k if the pair of circles x> + 2 —6x — 8 + 12=0,x>+)2 —4x + 6y + k=g

orthogonal

2432 — 6x—8y+ 12 =0, 2 +y2 — dx + 6y + k=0 Sygew 000 08 k ey

1) 12 2) —24

3) 25 . (4) 24

104. The equation of the parabola with focus (1,—-1) and directrixx+y+3=01s
59 (1, -1) 556050 JcHsdp x+y +3 =0 fo 105005 DEGESD .
(1) x2+)?~10x-2y—-2xy—-5=0
(2) x2+)?+10x-2y-2xp-5=0
B) xX*+y?+10x+2y—2xy-5=0
4 xX>+y*+10x+2p+2xp-5=0

Il

2 2

105. The radius of the circle passing through the foci of the ellipse T_6 + 2)9— =1 and havingits

centre at (0, 3) is

x2 y2

_1_6_+_9_=1 8&5» S)BIH rgor Fér, 3ogo (0, 3) m Ke Sy TgrgSsn
(1) 6 (2) 4

(3) 3 4) 2

106. The distance between the foci of the hyperbola x? — 3)2 — 4x — 6y — 11 =0 is
x2 =32 —4x — 6y — 11 = 0 0830300 TehHe S065g6r80

(1) 4 (2) 6

(3) 8 4) 10
107. [logx dx=

(1) xlogx+c (2) xlogx—x+c

Loy 1
(3) —-;log3+c (4) —~|0gx—l+c
X b
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108. [e” (tanx +sec? x)dx =

(1) &+c¢ (2) xe*+c
(3) esecqx+c (4) e“tanx+c
109. [ [ =

TN I+x

T /1

Z —+1
M 3 ® 3
3 -1 —
) = @ 3

2. \3 2
110. The order and degree of the differential equation [%] ~ [1 +(—J }

2

a’yY drp
Y| - 1+(—j w3ges Ho¥sne koY, $0Srmie B0 518

? dx
() 1&2 2) 3&2
3) 2&3 4 2&1
V-Maths 23
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PART-1V: COMMERCE -1

111. Business is a

(1) Non economic activity (2) Political activity

(3) Social activity (4) Economic activity
TgrEo WIH

(1) ©g8ss ss58ed0 2) ozboH sgierdo
(3) Fsrag sogierdo (4) ©g§ sEg8ero

112. Which of the following is feature of business?
(1) Profit motive
(2) Deals with goods and services
(3) Continuity in dealing
(4) Allofabove
& (8od FBS* Trgrdo Bk o0 87 -
(1) oovag
(2) SHen 50850 IS dJowodo EDASNNGE0
(3) dordrosomr IS0

(4) ’ﬁé{()a)
113. Example of Genetic industry
(1) Agriculture (2) Hunting
(3) Plant and nurseries (4) Tourism
DESS HOFHS Gt
(1) SgSaraso (2) Iersdo
(3) Booeo S0805H Sben (4) 2FE ITSEasFSen

114. Entrepot Trade means
(1) Production of goods in a country
(2) Selling goods to one country

(3) Buying from one country and selling to another country
(4) Alltheabove

S8 SE¥o edm

(1) BFos* 53588

(2) 50808 BT wlydo

(3) =& 370 So0d T J0BB0E 378 G—.‘J&’)J&)do
(4) 253
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115. Wholesale Trade means
(1) Buyingof goods in small
(2) Selling of goods in small
(3) Buying and selling of goods in large quantities
(4) Allthe above
5*% S880 wdm
(1) 2F) Iwgos* e Flhffen
(2) Q) Bwdos* Jthkoe ®50)5"e
(3) g Jwgos® 3K FHRen SH8a5w ®S0)57e0
(4) 23

116. Sources of water transport

(1) Rivers (2) Seas

(3) Canals (4) Alltheabove
2O TSy VToNeN

(1) Seoen (2) JdoEren
(3) stenlSen (4) 239

117. Banks, Insurance and Transports are example of

(1) Service industry (2) Genetic industry
(3) Construction industries (4) Alltheabove
ergosoen, ééréo(gen, 3080350 663'“88"’?60":8&1) 308 G5 8ea?
(1) 2o J8FS (2) =35 BE
(3) Qoee JBES (4) 23

118. Which is the oldest form of business organisation?

(1) Company (2) Sole proprictorship

(3) Partnership (4) Cooperative society

& 808 T8S” ©8 YTESDNS FgFrd Ho A8?

(1) Eo2d (2) ®od Fgrssm

(3) owriargSogdo 4) 3558 éofgex:
V-Commerce-I 25
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119.

The liability of Sole Trader is

(1) Limited (2) Unlimited

(4) All the above

(3) None

Rrod TSy g, 20 TS

(1) 5620850 (2) ©B0NEE

(3) D65 4) 232

: ership?

120. What is the minimum members required to form partnership

ariidngsog g3 (FEoDothity SEwbS EAD JEbgO SOBS "y

(1) 1 2) 2 3) 3 ()
121. Indian Stamp Act formulated in which year?

6805 oo Weo O HoSGBos® SAIFE BoSko =20hod?

(1) 1899 2) 1898 (3) 1897 (4,182
122. Indian Partnership Act came into force

28805 gy B0 N dodeyo So0d esaﬁawé‘é)c‘f&&?

(1) 1930 (2) 1931 (3) 193p\ (4) 1933

_ —

123. Active partner also called as |

(1) Working partner (2) Sleeping partner

(3) Nominal partner (4) Profit partner

DA% B8 Heo HH0G0E W

(3) FmsrEy wrids (4) ooros® it

124.

What is maximum members in Public Company?

(1) 7 (2) 50 (3) 100 (4) Unlimited
HDE E00e5* 683 dzhge K)ospg?

(1) 7 (2) 50 (3) 100 (4) ©H00S3W

e

. Which of the following is Government Company?

& Bob TBS* HHE; Kond 26?2

(1) RBI (2) LIC (3) NTPC (4) Ul
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126. What is minimum members in private company?
@3&.\) ot 95 dhge Somg?

(1) 2 2) 3 3) 4 4) 5
127. Which is the important cluase in Memorandum of Association?

(1) Name Cluase (2) Objective Cluase

(3) Office Cluase (4) Capital Cluase

BoTDI HFSN v SPgS 58 8?2

(1) SHPgoHYy 5& 2) Fgosro T&

(3) sogochy £F (4) Sross 58
128. Entrepreneur is a

(1) Person (2) Organizer

(3) Leader (4) Alltheabove

S ERRTgE 28

(1) =g& (2) SgSEpBsed

(3) cTosa (4) DI

129. Share holders are

(1) Leaders of the company (2) Owners of the company
(3) Creditors of the company (4) Alltheabove
TS §0n08 ST E?

(1) 8028 Tradsoen (2) BoR8 SHudSrloen
(3) B020R8 2wemrden (4) 23

130. In which year does Micro Small and Medium Enterprises (MSME) Development Act came

into force?
(“wg& D:\’D_ S065g S8 HoRpe WL IV ©0enS 8 SQod?

aQ [5]

(1) 4-10-2006 (2) 3-10-2006
(3) 2-10-2006 (4) 1-10-2006

131. The essential commodities Act came into force
VdSsdE SdHe BYo ©@55e065°08 IS JoHEES0
(1) 1954 (2) 1955 (3) 1956 (4) 1957
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132. In which year Consumer Protection Act enacted?
IIBrrT o SEp $ho J vodE)dod” Errobomdd?
(1) 1984 (2) 1985
(3) 1986 (4) 1987
133. A Trade which take place inside the country is called as
(1) Home Trade (2) Foreign Trade
(3) Export Trade (4) None
37 30T e S'Heo 200 SESR) JS00trd?
(1) %588 3880 (2) B2 3880
(3) DD SEso (4) A0 5
134. What is mean by online selling and buying?
(1) E-Selling (2) E-Production
(3) E-Commerce (4) E-Saving
BIBS TGo" BoH JESTen BOHTR) 20T
(1) E-od95 e (2) E-&¢8
(3) E-s206) (4) E-saving
135. Name of the shares issued by the company to Directors.
(1) Preference Shares (2) SweatEquity Shares
(3) Convertable Bonds (4) None
g0 BEEEH =bF R Frered DB300¢78?
(1) ebggdy Tréreo (2) &% -éaé‘séf) T e
(3) SrEn%d wrody 4) b =&
136. Which of the following is Regulator to Control Indian Capital Market
(1) SEBI (2) RBI
(3) Government (4) None
T EEBF0S" Sreld S8 L& JoHo@oRH
(1) SEBI (2) RBI
(3) Pdabdgo 4) 28 s
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137. Generally, Traders, Business people maintained following deposits.

(1) Recurring Deposits (2) Cash Credits
(3) OverDrafts (4) Current Deposits
Fordeorm, SG8e, Tgrdpw & Bod Dcposits E0A ¢otrdd.
(1) 08BoA &r=ixn 2) 558 @68
(3) @ésro Qoge (4) dodn B>BER
138. Principal of indemnity is not applicable to
(1) Fire insurance (2) Marine insurance
(3) Lifeinsurance (4) None
SJY8 DEpodsn Q DIrS S80t58?
(1) of) DS (2) bS50 D3>
(3) £28 P (4) 26 s
139. Which Market provides Long Term Funds?
(1) Primary Market (2) Money Market
(3) Capital Market (4) Goods Market
d 3570 &5 8§DS‘é')§ QEOO[ JJEF08?
(1) (FEDE S0 ¢5 (2) &Sy S es
(3) Soreds &7 ¢S (4) SQHo Sy es
140. Which of the following is Money Market instruments?

141,

\\-______‘v__ ———————

V-Commerce-I

(1) Treasury Bill (2) Commercial Paper
(3) Call Money (4) Allthe above

& [Bob T3St (BSg 57T FEISD 67
(2) $30009HE HdE

(4) 58y

(1) B=z=6 95
(3) s& 50

In which year Bombay Stock Exchange was established?
H0HEBoS" FRowEd?

(2) 1974
(4) 1975

ST oo fasg J@()Joa'é— py
(1) 1874
(3) 1875

29
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142. Securities Contract Act came into force
”ééagbéSu 2By0d o olenes 8 SIS HoS&BS
(1) 1953 (2) 1954
(3) 1955 (4) 1956

143. Goods and Services Tax is a

(1) Indirect Tax (2) Direct Tax

(3) Local Tax (4) Allabove
5% Do 33

(1) 38 589 2) ©Sg8 98
(3) T8 3%y (4) 23

144. GST (Goods and Services Tax) was introduced in which country firstly?

(1) France (2) USA
(3) India (4) China
SH S0 D39S OIFDYS 306 Bdo

(1) & (2) ©3pds
(3) =0&as> 4) 3

145. Which of the following is Right of Consumer?

(1) Right to choice (2) Rightto sale
(3) Righttousage (4) Right to gift

& 808 TBES' DITFKETEH Ty,

(1) do2E &5y, 2) oy 5o
(3) DARrhoT T8y, 4) oSodH S8

146. Which of the following is recent Mode of Transport?

(1) Water Transport (2) Air Transport

(3) Rail Transport (4) None

& 8od TBS* DB 8JE Savege 88092

(1) zo daer (2) oo Saves

(3) Beo Sarer (4) 28 =
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. Special Economic Zones (SEZs) Act was passed by Govt. in which of the following year?
©8g8 ©p8 Doderd SrQ) ©3r800% IR
(1) 2002 (2) 2003
(3) 2004 (4) 2005

148. Which of the following is Specialised Bank?

(1) EXIMBank (2) HDFCBank
(3) SBIBank (4) None

&3 @05 Je3eSt @égé aJ‘°§o§) L)&

(1) EXIMergoso (2) HDFCargos
(3) SBlergoso (4) D8 =

149. Advantages of E-Banking

(1) It reduces cost (2) Prompt service

(3) Any where banking (4) Allthe above

E-2rg080f 308 e&dHd@rKsn

(1) 8% SHo (2) dsreoes® BSOS DSen
(3) 2§33 ergo8ofy (4) 25

150. Debentures are which type of finance?

(1) Short term (2) Mid term
(3) Longterm (4) None
2VDJE D Q FEIT OO GIRBTEIES0?
(1) Sgoys~08 (2) J0EgsOF
3) &858 4) b =&
O00ag
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